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Swami Ramdas was very kind-hearted and devoted to God. He was

so gentle by nature that he never felt angry. But he was extremely

poor. His wife was ill-tempered. She used to quarrel with him
over trifles. One day there was no flour in the house. They had
d, “Go to the field

gone without food for two days. T he wife sai
and bring some sugarcanes. We shall satisfy our hunger with its

juice.” Ramdas collected a bundle of sugarcane and walked back
towards his home. On the way many people begged to have the
sugarcane and he gave them one each. At last he was left with just
one sugarcane. His wife pounced on him and snatched it away from
his hand. She struck it so hard on his back that it broke into two
parts. Ramdas said smilingly, “What a nice lady, you have snapped
the sugarcane without any trouble in two equal parts.”
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PART - 2
GENERAL ENGLISH
(Max. Marks : 50)

Do as directed :

(N

(#7)

(iii)

(iv)

(@)

(i)

Fill in the blanks with suitable degree of comparison : (2]
(@) This is the  chocolate cake that I have eaten (good).
(b) The weather in the beach is _ than in the mountain (cool).
Change the following into passive voice : (2]
(@) Someone has lit the fire.
(b) They made him the captain.
Change the following into active voice : 2]
(@) 1 was kept awake by the noise of the traffic.
(b)) He was seen plucking the flowers by someone.
Fill in the blanks with suitable relative pronoun : (2]
(@) This is the girl __ came from Spain.
(b) As a university student, you should know ____ to use a
library very well.
Fill in the blanks with suitable preposition : [3]
(@) He was advised to abstain ____ all alcoholic drinks.
(b) It is dangerous to enter ______ the enemy’s camp.
(¢) The man robbed me _ my possessions.
Fill in the blanks with suitable conjunction : [3]
(@ ____ he is honest, nobody trusts him.
(b) Neither my brother  my sister own a car.
(c) Ineed to work hard _ T can pass the exam.
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[8]
write the synonyms of the following words -
() I-stranged

(#) Ingenious

()  Divulge

(/) Write the antonyms of the fOIIOWing words :
(@) Inevitable
(6)  Voluntary

(¢) Exonerate

Give one word for each of the following :

(@) A person who comes to One€ country from another to sett]
e

(b) Capable of catching fire easily

(c) One who is sympathetic to mankind

Write the meanings of idioms and phrases, and frame sentences
of your own :

(a) Lion’s share
(6) By leaps and bounds
(c) Bed of roses

Rewrite the following sentences after making necessary corrections :

(a) The poor villagers have waited in bitter cold for more than
four hours now.

(b) If it will rain, the match will be abandoned.

(c) He has studied French since four years.

Rearrange the following sentences to frame meaningful sentences :

(a) threat / earth / global / to / on / today / is / warming / the /

biggest / life / single
(b) are / we enjoy / that / belong to us / than / if / much more

/ they / borrowed / reading books

(c) look / hearing /I / from / forward / soon / you / to I

(3)

[3)

(3]

(3]
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6 (1 Correct the spellings of the following words :
(a) Vacum
() Ocurrence
(¢) Ocasion
(i) Fill in the blanks with correct form of the verb given in the bracket : [3.
(@) It was warm, so I off my coat. (take)
(b) Jyoti _ for me when I arrived. (wait)

(c) Sonia for a place to live. (look)

7. Read the passage given below and answer in your own words the
[6]

questions given below :

The greatest enemy of mankind, as people have discovered, is not science,
but war. Science merely reflects the prevailing social forces. It is found
that when there is peace, science is constructive, where there is war,
science is perverted to destructive ends. The weapons which science gives
us do not cause war; they make war increasingly terrible. Till now it has

brought us to the doorstep of doom. Our main problem, therefore, is to
curb science, but to stop war—to substitute law for force and international

government for anarchy in the relations of one nation with another. This
is a job in which everybody must participate, including the scientists.
But bombing of Hiroshima suddenly woke us up to the fact that we have
very little time. Now we are face to face with an urgent question—can

education and tolerance, understanding and creative intelligence run fast
enough to keep us abreast with our own mounting capacity to destroy?

This is the question which we shall have to answer one way or the other
in this generation. Science must help us in arriving at the answer, but the

main decision lies within ourselves.

Questions .
()  Who is the greatest enemy of mankind?

i) What do weapons cause?
lii) What is our main problem?

—
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, of Hiroshima imply?

hat docs the pombing

Wl
. help us?
ll‘)

. itle to the passage.

()
+d of its original length

Write a precis of the following passage in one-thi

and suggest @ suitable title to it :

Our body 15 a wondcrous mechanism and when subjected to unusual
more efficiently with

<tress over a period of time, it adapts itself to deal
fore. when you exert your muscles against resistance,

that stress. There
ordinary work load. This

ed to adapt and deal with this extra
is the principle of weight training. One of the great merits of weight

training is the strength of your heart. During weight training, your heart
is forced to beat faster and stronger in order to pump sufficient blood to

the muscles being worked. In time, your heart, li

to this extra work load by becoming stronger a
your body needs a given amount of blood to perform its daily tasks, your

:ean wﬂ.l no?Jv need fewer beats to pump the same quantity of blood
our entire circulatory system is given a thorough work-out every time

they are forc

ke your body, will adapt
nd more efficient. Since

you exercise, which increases its overall efficiency.

[6]
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